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text = "Hello World"
print (text.lower()) # _>3,%: hello world
print (text.upper()) # >, 5: HELLO WORLD
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text = " Hello World "
print (text.strip()) # >, %: Hello World
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text = "I like Python"
print (text.replace("like", "love")) # >y, 5: I love Python
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text = "apple,banana, cherry"
fruits = text.split(",")
print (fruits) # _>,,5: ['apple', 'banana', 'cherry']
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words = ["Python", "is", "awesome"]
sentence = " ".join (words)
print (sentence) # >y, 3: Python is awesome
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text = "I love Python"
print ("Python" in text) # _»>,,5: True
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text = "Python is fun. Python is easy. Python is powerful."
print (text.count ("Python")) # >4, 5: ¥
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text = input ("woS oyl 4alhy S M)
print (text.upper())
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text = input ("wos oyl 4Shy So:r M)
print (text.strip())
W
text = "Python is fun. Python is easy. Python is powerful."
word = "Python"
count = text.count (word)
print (£f"{word} 5 o {count} cwl oud yalb HLo.")
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